S Sound Contrd MDC6™ Application Guide
Technologies

L_/ Updated: 5/16/2025

) SUPPORTED SCT
SOURCE DEVICES

* RC5 Gen2 ¢ RTK-AM1
e RC5+ * RTK-USB3
* RC8 Gen2

*Any combination up to 6 total

RCC-M0O19-1.0M J

MDC6™ Serial Hub
www.soundcontrol.net

1 r. N

Diag 3rd Party
RS-232 RS-232

GRXTX GRXTX GRXTX GRXTX GRXTX GRXTX GRXTX GRXTX USB 2.0 Ethernet1 Ethernet2 +30VDC

RCC-M013-1.0M

r
CISCO DEVICES \ ‘ /
e Codec Pro + Room Bar W _'===== . S
e Codec EQ « Room Bar Pro n! n|||||n||u|nnmun=|:u:|u-u’ :l::ull,mu:lﬁmmn=|:|g|:;|°
* Room 70 @ J
I i
........ fls. ooooo B I
NS

RCC-M019-1.0M
RS-232 to RS-232 Cable
[3] Included, additional

sold separately

RCC-MO013-1.0M
USB-A to RS-232 Cable
*Included with SCT Source
Devices

afraln
Cisco

COMPATIBLE

MDCG6-PA version also includes the RC-RKPA Rack
Mount System shown on the following page.



g Sound Contro
Technologies

Revision A, 4/23/2025

RC-RKPA™ Rack Mount System

INCLUDED PART LIST PARTS NOT INCLUDED
No. 1 RC-RKPA Power Supply Cradle, 801-1333 (Qty 1) No. 6 RX Module

No. 2 RC-RKPA L-Bracket, 802-1333 (Qty 4)

No. 3 RKPA-BRKT Wall Mount L-Bracket, 803-1333 (Qty 2)

No. 4 8-32 x 5/16”, Phillips Flat Head Screw, 860-0070 (Qty 4)

No. 510/32 x 7/8” Phillips Pan Head Screw, 860-0073 (Qty 4)

ASSEMBLY INSTRUCTIONS
STEP 1: Attach Power Supply Cradle (No. 1, Qty 1) and RC-RKPA L-Bracket (No. 2, Qty 1) to RX
Module (No. 6, Qty 1) using 8-32 x 5/16” Phillips Flat Head Screws (No. 4, Qty 4).

STEP 2 (Optional): If mounting to wall, attach RKPA-BRKT Wall Mount L-Bracket (No. 3, Qty 2)
using 10/32 x 7/8” Pan Head Screws (No. 5, Qty 4). Secure to wall with appropriate screws (not
provided).

SOUND CONTROL TECHNOLOGIES, INC. | 203-854-5701 | WWW.SOUNDCONTROL.NET




